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6 2650 - 454 31

7 3350 - 454 31

8 1050 417 - 49

9 1050 205 - 49

10 1050 0 - 49

11 1812 417 - 49

12 1812 205 - 49

13 1812 0 - 49

S wm
NO.
5-4
2
2~3
3
©
@
®) 5-8
5-8
1 2 3
kg 300 600 930
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4
BLR-1 /
YJ- X4
1.
5-9 5-10
5- 45 5-11

5-9 mm
200 kg 400 kg 550 kg 650 kg 200 kg 400 kg 550 kg 650 kg

1 -2.77 -5.%4 -7.5 - 8.8 8 1.74 3.48 4.79 5.66
2 -1.9 -39 | -53 | -6.26 9 0.77 1.%4 2.2 2.71
3 -1.75 - 3.5 -4.77 - 5.58 10 1.07 2.14 2.9 3.62
4 -1.51 - 3.02 -4.04 | -4.71 1 0.93 1.86 2.56 3.02
5 -094 | -1.8 | -247 -2.86 12 0.45 0.9 1.3 1.58
6 -0.06 | -0.12 -0.15 | -0.18 13 0.02 0.04 0.07 0.1
7 - 0.07 -0.14 -0.1 - 0.09 14 - 0.05 -0.1 -0.11 -0.14
200 kg 400 kg 550 kg 650 kg 200 kg 400 kg 550 kg 650 kg

1 -268 | -53 | -7.24| -827 1.53 3.06 4.39 5.21
2 - 1.8 - 3.7 - 5.01 -5.71 9 0.75 1.5 2.23 2.78
3 -1.62 -3.24 | -4.4 - 5.06 10 0.97 1.4 2.85 3.47
4 -1.3# - 2.68 - 3.66 -4.2 11 0.83 1.66 2.39 2.85
5 -0.8 | -1.76 | -2.41 -2.71 12 0.48 0.9% 1.37 1.66
6 -0.03| -0.06 | -0.11 - 0.15 13 0.02 0.04 0.09 0.12
7 0.05 0.1 0.12 0.11 14 -0.01 |-0.02 |-0.03 |-0.07
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5- 10 '

200 kg| 400 kg| 550 kg| 650 kg 200 kg| 400 kg| 550 kg| 650 kg
1~8 12.98|26.10| 35.63|41.71 1~8 12.71125.35| 35.75(41.34
2~9 11.68|23.35|31.94 | 37.46 2~9 11.80|23.60| 32.50| 39.23
3~10 9.88(19.75|27.11|31.86 3~10 10.24|20.49|28.48|34.32
4~11 8.31 |16.62|22.61|26.23 4~11 8.30 |16.60| 23.02| 27.50
5~12 4.90| 9.78 |13.29|15.37 5~12 4.78 | 9.56 [12.97|15.51
6~13 0 0 0 0 6~13 0 0 0 0
7~14 -0.3-0.63 - 1.12] - 1.4& 7~14 -0.68/-1.36 - 1.8 - 2.6

—— 2007411 —m— 200441 —+— 40044 —0— 400441
—*— 550/ —8— 55047 H —— 65071 —— 6504 Hl
50
» %\%\’\\

< 30

~ Oh\o\n

§§ 20 \-‘\\O\\X

' 10

z

0 1 1 1 1 1
o =705 0 475 1050 1730 2650 3350
BERTRPE RS / mm
5- 45
5- 11
/Nm /" / Nm ° -1
1 1960 11.74 10017
2 3920 23.48 10017
3 5390 32.22 101037
4 6370 38.34 9969
2.
300 kg 600 kg 925 kg
450 kg 475 kg

5-12
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5- 46
5- 12 mm
300 kg 600 kg 925 kg
1 0.1 0.19 0.28
2 0 0 0
3 -0.12 - 0.257 -0.38
4 -0.26 - 0.53 -0.78
5 -0.34 - 0.67 -1.03
6 0 0 0
7 - 0.01 - 0.02 0.12
8 -0.23 - 0.46 -0.77
9 - 0.51 -1.02 -1.65
10 - 0.64 -1.28 -2.06
11 -0.34 - 0.67 -1.03
12 -0.37 -0.73 -1.16
13 -0.43 - 0.86 -1.32
[—9—300 ke 4k —m— 600 ke %k —&— 925 ke &
0.4 N
0.2
0 : 475~ e
0.2 705 0 1050 1730 9650 3350
% -0.4 NS —
= 0.6 \‘l\\‘//
o /
R )
-1.2
PEBSETAHEE B /mm
5- 46
9 848.6 Nm/ ° 2000 9 000 Nm/ °
2 656 mm 2000 3388 Nm/ ° 1760
nm 5596 Nm/ ° 2000 1.65
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F = 0.102BLi x 10* 6-1
kg B L m i A
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F = Fo+ BLISNwtA mg x w?- wg? sSnwt- ¢ - Dew xCOS wt - ¢ 6- 2
* 2

FO A mE mECUE
De 6- 1
6- 2 wE = w Dg
F = Fg + BLlSinwt 6-3
-
T odt
_d_X_J
V=gt T adt
X:J = Jadt dt
6- 4
1.
1 2 3 m 4 k
5 C
Cx, A, dy
dz dt dtz 4\ /1
c [T~% &
e=—C |k N
2 Kk m 5 y
X w/cun2 |—|—|C FE

w _
Yo 1- wlw, 2+j2¢ wlw, il// 72

’ X
Y

w lwp § 6-4
[1- wlw, ?]?+[2¢ wlw, ]? 1— 2— 3—
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28 wlw,
=- t
¢ arctan — ol ?
Y = YoSNwt X 6-4
‘l‘_ w/wn2 6. 4
Y [1- wlwy 02+[2¢ wlw, ]2
6-5 ] =07 X
Wn Yo
w
S=O.6~0.7J>>1
n
6-4 w
X | ,
[ﬂ] 2 LYO 0.25\ ¢=0
. \
Xo _ n 6-5 N
Pl () L)) =
o + Ewn ; 0.5 ~
. 0.7 —
/
0 1.0 2.0 3.0
£=0.6~0.7 “=1 ®/w,
@n
a:iy 6-5
dt?
X
i 2
X _ | X w%
al " |yw?| "~ w212 w\12 6-6
Jl (o) T+ 2 2)]
Wn Wn
X o _| X i @
a®n= |y,2| @n 6-6 wn<<l
£=0.6~0.7
Xo 1
gowfﬁl Xo=;%%
£=0.6~0.7 “<0.2~0.4
Wn
6-7 -1
n
¢ ~ 180° £=0.7 “<1 ¢

Wn

£€=0.7 ¥ <1
w

n
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2.0 /1
1.5 ,/m\ \{:0
1.0 \‘o. 707
0.7 O
N 0.6 N\ N N\
505NN AN N\
> i 0.4 N N 2-0 \
0 \\ N\ \\ AN
0.2 N 5.0 N
10.0
0 0.1 0.2 0.5 1.0 2.03.0
()
wn
6- 6
180° [ [ 703
o {=0 :
150° //%;;
120° Aé O %
> 5.0 | ——
10
¢
yt = Zyisin iwt
i=1
£=0.7 <
n 2 3 4 5
w/wy
X t
6-7
Xt = D,xsin iot + ¢
i=1
i
¢i “ a Si’i =a —
wn Wn
. i T
Xt = insm( iwt + aﬂ) = Exism[ Icu(t +i)]
i=1 @n -1 Wn
1 Nog
Yi
X = yi
t+< =t
Wn
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W< Wp

(a)

(b) (0

a=asn wt+ ¢

F = Cx:ﬁc%sin wt + ¢
Wn
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7 2 % g
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o s e 4 B
N H=
R= o\ 7 B
! | RN

/

[
- 4-' —-|=,ﬁ;
| —
-~

|
|
|
|
6- 10

_ _ Qo
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@Wn
K
KB C w,
£=0.01~
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M X"+ C X + K = X i
M — nxn
c — nxn
K — nxn
X X X —
F —_—
n
0Zu] 04120 04100
Bz, B Hz,,8 1z,
21=D;D 2=D:|:| Zn = )
Dan 0 |:|Zn2 . Dznn .
Zu Zi ZinQ
0
Z Z
(2= 2,2, z, :Ekﬂ o -nzﬁ °- 13
Dan Zy Znn[|
My 00
ZTMZ:E M, E:d'agM' °
0o M,
|:|Kl OD
ZTK Z E K SzdlagKZ' C
to K3D
diag M; diag K; !
(,()r = Ki/M|
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oG 0
O O
z'cC Z:E C E:diagCi
U c,U
X = Z q
6- 12
6- 14 6- 12 z7
Z™™ Z q+2z2"C zZ g +Z"K Z gq=2TF
dagM;, " +diagC q +disgK q = P
P=2zTF 6- 15 q
6- 14
2.
n n n
n
X Z; a i
n i 6- 15
t
Xt =& Z gt
i=1
g
{Xt = Z gt
gt #0qgt =0k
i i
6- 15
[Pi: Ki + jow - M’ g
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6- 12
1.
1
6- 12
0~ 200 Hz
2
3
0.2~200Hz
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o lN-l
m,=u= u 6- 18
u anon
_ T
N_At T, S At
m, my
u(t)
0 /fﬂ\ | \I//\ -
| t
ARGy
At
6-14 ut
u
1
u 6- 18
2
Up=Up, N=12 N-1
— n — 1 — 1
Uy = 7 qUn-1 gy qUn = Unos 077 Un - Ung 6- 19
GzaN-1
3
_ 1 3 _
u:u+Nn:0 U, - u 6- 20
Uy
6- 20
Un
Xt =ut -u
X t Xn me=x=0
Xo = X tg+ MAt = u,- U n=012 N-1 6- 21
6-21
X t
N
fx =2 6- 22
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doza dkzb
2 Xn
Noz X$do
N]_: d0<X$d1
Ni: di—l<X$di
Ny = Oy. 1 < X< dy
Nk+l: X>dk
K+1
K +2 N= >N,
i=0
Xn
@ Xn<a N 1
@) a<x,<b l= x,- a /W i
1
® X, > b Ni +1 1
3 6- 22
_ N Nk
fx'_NW_Nb-al_lz K
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]:
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X, n=012 N-1 X t X
N-r-1
R = R rat = XnXn+r



FEAE AFFRERESHR

At T
6- 26 R R
Xt oyt
1 N-r-1
{ny rat = N - rzxnymr
n=0
N-r-1
{Ryc rat = 1> vk, 6- 27
n=0
6- 26
S f
S f = | "R e 6- 28
R ©
S f S f S f
S f :J urc Rt ek 6- 29
1 ] < 1
ut :{ " 6- 30
0 |r‘>rm
sin 2rfr,
u f _{Ztm 2rnfry F=0 6- 31
2t f=0
6- 29
=j S f'" U f- f' df’
6- 32

oo s e oy
I i

Tm
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ut) ulf) 2Tm
1
- 1
~\ 2tm /N
—Tm 0] Tm t \/ f
0.424 71y
6-15 u <t u f
S f R, ©
6- 32 S f S f U f fr=f
Zz'mj S f df ur
U f
2.
S f S f

X t =ASn 2xfor + ¢

20y ) 2
S f :%J_ cos 2rfyr e-lzﬂffdf:%af- fo +5 f+f
fo + fo
2
G f :%Sf-fo f=0
6- 33 6- 34
s 1 AP [sin2n f- fo ty  sin2n f+ fy oy
St = o -t T 21 f4fo 1
f>0 fo m 0<<i<<fo
Tm
g ¢ Adtm sin2e f - fo
Sk = 2 2nf- fytm
~ , Sin2r f- fo
Gi I~ Aot 2r f- fy T
f:fo
~ = o Afeesin2e - fo Ttk
G f |n”ex—fo0 _!err: 2 f- fy o = At
G f G f 6- 16
snd
fo 0

6- 33
6- 34
6- 35
6- 36
6- 37
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Gy () Gx ()
5 (/-fp) AL Tm
T /\meflf'\
0 7o I o NS f
6- 16 Gf G f
6- 17
a b U f
G f 6-17 e G f
G(f Uf “ ”
G f G f
3.
6- 17
G f' xU fyo- f' G f
Hanning Hamming
1
1 T
drt = 2[:I--}-COSTm]lflgfm 6- 38
0 | z|> tm
_ 1 1 I § 1
Df_2Uf+4Uf-ZTm+4Uf+2tm 6- 39
1
1/2 U f o
Lyt 6-18 D f
4
6-15  6-18 U f 20, E
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20% D f o 2 2.4%
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D(S)/Tm

7
6- 18
2,
0.54 + 0.46c0s ** | T]< tm
Wt = Tm 6- 40
0 | t]> tm
W =0.54U f +o.23Uf-Zi £0.23U f+ = 6- 41
Tm 2t
6- 41 6- 39
1.087,
6- 33
. 2
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2 : : 2
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Re= Ry At = E XXqur

n+r r=— - <r<+

o
1

t - Tm Tm

)g))
I
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T At

Xn Xn+r

2At Z R cos 2rfrAt
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01 m onfrat ="K
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0.54 + 0.46c0s ™" [rl<sm
W = m 6- 49
0 [ r|>m
Wk = 0.54U, + 0.23Uy. 4 + 0.23U,,1 6- 50
5.
G f G f
G G f G
Gy (k)
0 k-1 k k+1 m
6- 19
6-19 G k G k G k
_k ~ k-1 _k+1 ~ =
W=omar & fie1=omar fe1Tomar Ger Gen
Gy
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111 - . 1~ . =
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1 1 n k=12 m-1 6- 51
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Gy = 2At E d,R,cos m
S kr
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r=1
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1Hz 4 4



6 DASP
3.
0.8
6-1
6-1
/Hz /%
1 1.592 1.00E+ 02 7.40E- 01 7.396
2 35.982 5 11E+04 1.81E+ 00 0.801
3 53.532 1.13E+05 1.56E+ 00 0.463
4 62.290 1.53E+05 2.67E+00 0.683
5 65.304 1.68E+ 05 2.29E+00 0.557
6 73.119 2.11E+05 2.57E+ 00 0.56
7 77.183 2.35E+05 2.70E+ 00 0.557
8 83.599 2.76E+ 05 1.56E+ 00 0.297
9 89.729 3.18E+ 05 3.26E+ 00 0.578
10 93.897 3.48E+ 05 2.88E+00 0.488
11 99.960 3.UE+05 2.23E+00 0.355
12 103.819 4.26E+ 05 1.75E+ 00 0.268
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6- 26 65.304 Hz
4.
1
1.592 Hz
35.982 Hz
2
8~ 10
3
0.8
5.
36 Hz 65 Hz
DEV3
25 Hz 6-3
6- 3
NJ6400 DEV3
/Hz 36 21.5 15. 6 25

/Hz 65.3 28 25.6
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